Maple Assignment #1
Please complete the following problems using Maple and save your work. Then send it to me as an email attachment, or if you have problems with attachments, print it out and hand in the printout (including your name).
Plotting

Maple is great at drawing  3D surfaces! Recall that to plot a 3D surface such as the one given explicitly (i.e. solved for [image: image2.png]


) by [image: image4.png](x,y)=x*+y*




, you would use the commands:
[image: image5.wmf]
[image: image6.wmf]
where we specified x and y to be between -3 and 3. To plot implicitly defined surfaces such as [image: image8.png]x2+2z2

1



, you use:

[image: image9.wmf]
[image: image10.wmf]
Note that you would only have to execute [image: image11.wmf]once. Once the plot is ready, you can click on it to rotate it to see the surface better, or right-click on it to add a coordinate system.

1. Use Maple to plot the following surfaces:
a. [image: image12.wmf], where x and y are between -2 and 2

b. [image: image13.wmf], where x and y are between -2 and 2
c. [image: image14.wmf], where [image: image16.png]


 and [image: image18.png]



d. [image: image19.wmf], where [image: image21.png]x,y,z € [-2,2]




2. To see what else Maple can do, execute the following command. Can you name that object?
[image: image22.wmf]
3. Plot a unit sphere, using Maple
Vector Algebra
Maple can also do vector algebra very nicely, as the following example shows:

[image: image23.wmf]
[image: image24.wmf]
[image: image25.wmf]
[image: image26.wmf]
[image: image27.wmf]
[image: image28.wmf]
1. Use Maple to solve the following questions:
a) If [image: image30.png]v=<3,-12>



 and [image: image32.png]


  find [image: image34.png]


, [image: image36.png]vXW



, and [image: image38.png]llwll




b) Find [image: image40.png]llproj,(w)ll



 and [image: image42.png]llproj, (@)l



. Are they the same?

2. Use Maple to prove that:

a) For any vector [image: image44.png]v=<a,b,c>



 we have [image: image46.png]a-a=lall?



 and [image: image48.png]axa=0




b) For any two vectors [image: image50.png]v=<ay, by, >



  and [image: image52.png]w =< ag,by,c; >



 we have [image: image54.png]


 . For extra credit  prove (using Maple) that [image: image56.png]v-(wxv) =0




